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2= 0HAEY 235 3,438, 100 2,553,000 885, 100
Zo2ABHE A SLEAY 80, 000 80, 000 0
307 2I2t0| & 80, 000 80, 000 0
02 QI2ZHZAME X 80, 000 80, 000 0
O 22 EA WE = 30, 000
[J] 15, 000]
= 15, 000]
O 22N B ES = 50, 000
[J] 25, 000]
= 25, 000]
Zo LA ESAY 260, 000 200, 000 60, 000
308 XX HMSOIA 260, 000 200, 000 60, 000
01 RXSMIAESEZ 260, 000 200, 000 60, 000
O =st2ZoiEAL EZAE 1,300, 000, 0002 *20% = 260, 000
[l 130, 000]
= 130, 000]
HFIEE 224 60, 000 60, 000 0
307 2I2t0| & 60, 000 60, 000 0
04 QIZIHAIE X 60, 000 60, 000 0
O 22188 22H = 60, 000
[l 30, 000]
(& 30, 000]
Fot2ZEE=HMAA 900, 000 1, 050, 000 A 150, 000
308 XAXHHMSOIA 900, 000 1, 050, 000 A 150, 000
01 XXHMBAEXEZ 900, 000 1, 050, 000 A 150,000
O 22=H N3 1, 200, 000, 0002 *75% = 900, 000
(DI 600, 000]
(& 300, 000]
AdEsazozH 29 A 102, 400 120, 000 A 17,600
308 XAXHHMSOIA 102, 400 120, 000 A 17,600
01 XXHMBAEXEZ 102, 400 120, 000 A17,600
O SdE =FE A = 51,200
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ceBEEY nle 28 (Erol #@ e
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
?=0l &M FXISH 14, 400 0 14, 400
301 2erzga3zg 14, 400 0 14, 400
12 JIEtE &3 14, 400 0 14, 400
O =30l igoe XI& = 14, 400
HICIZ2ASH E2d3A2 SHAE 4X 15, 000 50, 000 A 35,000
402 2I2H X201 15, 000 50, 000 A 35,000
02 CIZ2FCHEH AL HI 15, 000 50, 000 A 35,000
O HIUSAEH S28A2 SHAIE &EX = 15, 000
22 e 9, 257,300 4, 497, 500 4,759, 800
ZH2E X OHE AL 3,679,000 830, 000 2, 849, 000
403 XX SHHSA=01H 3,679, 000 830, 000 2,849, 000
01 XXISHXMAELX 3,679,000 830, 000 2, 849, 000
Oddi==a 22X i = 1, 829, 000
(2 1, 829, 000]
OutXI& 22X g = 1, 450, 000
(2 1, 450, 000]
Od=s0ts 22X N = 400, 000
[ 400, 000]
oA Y At 2,130, 700 2,167,500 A 36, 800
403 AtXISHHSA201H 2,130, 700 2,167,500 A 36, 800
01 XXHHA=2EX 2,130,700 2,167,500 A 36, 800
OHEHZ AMRUEXY 260, 000, 000& *65% = 169, 000
(2 130, 000]
= 39, 000]
OYH AL 22 HIDISR XA 518,000, 0002 *65% = 336, 700
(2 259, 000]
= 77,700]
Osa=d & HeEgssa Hd
1, 700, 000, 000& *65% = 1, 105, 000
[ 850, 000]
(& 255, 000]
OgX o Zot2Z I I 800, 000, 000& *65% = 520, 000
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(2 400, 000]
= 120, 000]
ME S22 TR OHE 1,101, 100 1, 500, 000 A 398, 900
403 XX SHMS K201 1,101, 100 1, 500, 000 A 398, 900
01 XXHHA=2EX 1,101, 100 1, 500, 000 A 398, 900
O 23835 MEf2ZZXR g 1,094, 000, 000& *65% = 711,100
= 547, 000]
= 164, 100]
OddelZUE MEssd =4
600, 000, 000& *65% = 390, 000
(2 300, 000]
= 90, 000]
dESsts 22 TS At 169, 000 0 169, 000
403 XX SHHSA=01H 169, 000 0 169, 000
01 XTXHHA=2EX 169, 000 0 169, 000
ONSE=SNHIASAIE(E2)
100, 000, 000& *20H 2 *65% = 130, 000
(DI 100, 000]
(& 30, 000]
ONSsISAASAIG(ZZ &)
60, 000, 000 *1JH A *65% = 39, 000
[J] 30, 000]
= 9, 000]
0 A2 8 ZEAME 2,177,500 0 2,177,500
403 X SMS K201 & 2,177,500 0 2,177,500
01 XXHXNA=2EEX 2,177,500 0 2,177,500
OAAHE JtAA2H AlY 3, 350, 000, 000& *65% = 2,177,500
[J] 1,675, 000]
== 502, 500]




PN 22ZES 0
HHSEE(2YNED)
S HEHHNE (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
HRes(HZXE) 1, 400, 000 1, 890, 000 A 490, 000
LHEAHH K= 1,400, 000 1, 890, 000 A 490, 000
otHE 22X JHEY EgH &3 1, 400, 000 1, 890, 000 A 490, 000
701 DBt HEEZS 1, 400, 000 1, 890, 000 A 490, 000
01 JIEtsl HNEEZ 1,400, 000 1, 890, 000 A 490, 000
OUHEAZTINLEESH HES = 1, 400, 000
HE2IZH(AZRED 9, 960 36, 780 A 26,820
Jl2Z bl 5, 760 32,780 A 27,020
JI2ZHl 5,760 32,780 A27,020
201 2et2gH| 5, 760 32,780 A27,020
01 AtSR2teldl 5, 760 32,780 A 27,020
O get==2t| = 5, 760
ol 2| 4,200 4,000 200
ol 2G| 4,200 4, 000 200
203 Z R =&l 4,200 4,000 200
04 BEA2IHRFZXHI 4,200 4,000 200
O2Z&EDL = 4,200




